RESOLUTION

Gadsden Independent School District

Participation in Local Government Road Fund Program Administered By New Mexico Department of Transportation

WHEREAS, the Gadsden Independent School District and the New Mexico Department of Transportation have entered into a joint and coordinated effort in Cooperative Agreement Project No. SP-1-08 (919) and Control Number 88198 known as LGRF Project for 2007-2008.

WHEREAS, the total cost of the project will be \$37,181.33 to be funded in proportional share by the parties hereto as follows:

a. New Mexico Department of Transportation's share shall be 75% or \$27,886.00

and

 Gadsden Independent School District's proportional matching share shall be 25% or \$9,295.33

TOTAL PROJECT COST IS \$37,181.33

Gadsden Independent School District shall pay all costs, which exceed the total amount of \$37,181.33.

NOW therefore, be it resolved in official session that Gadsden Independent School District determines, resolves, and orders as follows:

That the project "Student Drop-off at Desert View Elementary School" for this Cooperative agreement is adopted and has a priority standing. (See attached drawing and estimate)

The agreement terminates on December 31, 2008 and the Gadsden Independent School District incorporates all the agreements, covenants, and understandings between the parties hereto concerning the subject matter hereof, and all such covenants, agreements and understandings have been merged into the written agreement.

NOW therefore, be it resolved by the Gadsden Independent School District to enter into Cooperative Agreement Project Number SP-1-08 (919), Control Number 88198 with the New Mexico Department of Transportation for LGRF Project for year 2007-2008 to "Design, subgrade prep, base course, PM BP, curb, sidewalk, fencing, signs, marking and drainage of new parking and student drop-off at Desert View Elementary School" within the control of the Gadsden Independent School District in Sunland Park/Doña Ana, New Mexico.

Maria E. Saenz, School Board President

Date

Manuela Huerta, School Board Secretary

Date

TO:	RICHARD CHAVEZ ASSOCIATE SUPT., SUPPORT SERVICES	
FROM:	S. YTURRALDE DESERT VIEW ELEMENTARY	
RE:	PARKING SITUATION	
DATE:	DECEMBER 13, 2006	

On December 12, 2006 we invited Mr. Mike Munoz and Mr. Alfredo Holguin to witness the parking situation at dismissal time at Desert View Elementary. The reason for this invitation was that our parents do not have adequate parking to pick up their children and we wanted them to witness the chaos that develops during this time.

The day before, the Sunland Park Police Department had issued 5 citations to our parents. The residential streets in front of our school are not built to sustain the enormous traffic that builds up at 7:30 and 2:30. Consequently, parents become frustrated and angry with each other as well as with my staff who pulls duty.

In addition, the parking lot for faculty and staff is not adequate either. When we have special events at the school, faculty must park along the rock wall near the school in order to provide parking space for our parents.

We cordially invite you to witness this phenomenon and respectfully request assistance to alleviate the situation.

Thank you in advance for your consideration.

PRELIMINARY ESTIMATE OF COSTS AND QUANTITIES

ENTITY: Gadsden Independent School District

TERMINI: Desert View Elementary School Parking and Student Drop-off

SCOPE OF

WORK: Construction of a Paved Student Drop Off area including 12" subgrade prep., 6" crushed aggregate base 2 1/2" PMBP surfacing, header & standard curb, sidewalks, drainage, chain link fencing and markings.

6

ITEM	ITEM DESCRIPTION	UNIT	ESTIMATED	UNIT	ESTIMATED
NO.			QUANTITY	COST	COST
1	Mobilization/Demobilization	LS	1	\$14,500.00	\$14,500.0
2	Sub-Grade Preparation and Base Course	SY	900	\$10.00	\$9,000.
3	PMBP asphalt	SY	900	\$18.00	\$16,200.
4	Header Curb	LF	320	\$13.00	\$4,160.
5	Standard Curb	LF	320	\$17.00	\$5,440.
6	Sidewalk	SF	925	\$8.00	\$7,400.
7	Grading & Drainage	LS	1	\$2,250.00	\$2,250
8 .	Chain link Fencing	LF	520	\$11.00	\$5,720
9	Drain pipe, headwalls & outfalls	LS	1	\$1,875.00	\$1,875
10	Marking & Signage	LF	200	\$0.54	\$108
11	Material Testing	ALW	1	\$2,500.00	\$2,500
12	Engineering Fees	LS	1	\$16,800.00	\$16,800
	· · · · · · · · · · · · · · · · · · ·		Construct	ion & Design	\$85,953

